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/* 000000000000000
O0000000Omaen 00 WIDTHO DO OO OO
+ 0000000 (@ooooooo) */

/ 0000000 @Ooooo) =/

#include <iostream>

#include <fstream>

#include <string>

#include <stdio.h>

#include <stdlib.h>

#include <math.h>

#include "fname.cxx"
#define TAKE_CLOCK 300
#define TAKE_CH 8
#define PEAK_LENGTH 200
#define WIDTH 1.9 //000
using namespace std;
double chenge(double charge, int ch);
int main(int argc, char *argv([]){
if (arge =! 2){

cout << "OOOOOOOUOODODODOON\n";

return 1;

char ifname[32];
sprintf (ifname, argv([1]);

ifstream fin(ifname);
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char ofname[32];

int data_num;

fname_charge (ofname, ifname, &data_num);
ofstream fout(ofname);

cout << ofname << endl;

int num, t, ch;

double charge [TAKE_CH];

double mean[TAKE_CH] ;

int data[TAKE_CH] [TAKE_CLOCK] ;
int clock;

int hit=0;

int hit_1=0;

for (num=0 ; num<data_num;num++){
//000
for(ch=0;ch<TAKE_CH;ch++){
charge[ch] = 0;
mean[ch] = 0;
}
//000 mean 0O 00O
for (t=0;t<TAKE_CLOCK-PEAK_LENGTH;t++) {
fin >> clock;
for (ch=0;ch<TAKE_CH;ch++){
fin >> datalch] [t];
mean[ch] += (double)datalch] [t];
}
}
for (ch=0;ch<TAKE_CH;ch++){
mean[ch] = mean[ch]/(TAKE_CLOCK-PEAK_LENGTH);//0 O

//00 charge 0000
/0000000000
for (t=TAKE_CLOCK-PEAK_LENGTH; t<TAKE_CLOCK;t++){
fin >> clock;
for (ch=0; ch<TAKE_CH;ch++){
fin >> datalch] [t];
}
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/0000000000004
for (t=TAKE_CLOCK-PEAK_LENGTH; t<TAKE_CLOCK-2;t++){
for(ch=0;ch<TAKE_CH;ch++){
//0000000000
if (datalch] [t] < mean[ch]- WIDTH){
if ((datalch] [t-1] < mean[ch]- WIDTH&&datal[ch] [t+1] < mean[ch]-
WIDTH) | | (data[ch] [t-1] < mean[ch]- WIDTH&&datal[ch] [t-2] < mean[ch]- WIDTH)
| | (datalch] [t+2] < mean[ch]- WIDTH&&datal[ch] [t+1] < mean[ch]- WIDTH)){
charge[ch] = chargelch] + mean[ch] - datalch] [t];

//hit 00000
for(ch=0;ch<TAKE_CH;ch++){
if (charge[ch] !=0){hit++;}
}

if (hit==1){

fout << num << " ";
for (ch=0;ch<TAKE_CH;ch++){
fout << chenge(chargel[ch],ch) << " ";
Tt
hit_1++;
fout << endl;
Yelse{
fout << num << " ";
for (ch=0;ch<TAKE_CH; ch++){
fout << chenge(charge[ch],ch) << " ";
}
fout << endl;
}
hit=0;

cout << hit_1 << endl;

fin.close();



fout.close();

return O;

double chenge(double charge, int ch){
double a[8]; //1chO000000 (mV)
a[0]=3.8754;
a[1]=3.8844;
a[2]=3.9571;
a[3]=4.1290;
a[4]=3.9595;
a[5]=3.9155;
a[6]=4.0371;
al[7]=4.0114;
double t = 16.0; //1ch 000000 (nsec)
double regis = 50; //0000000 (Q)

charge = charge * al[ch] * t / regis;

return charge; // 00000000 (x10e-12 C)

72 0ODOODOOOOO
3.220000000000000000000DO0DOODODO

/* 2D c£0000O0O0O
clockOOODOODOODODODODO
000 cm x/
#include <iostream>
#include <fstream>
#include <string>
#include <cstdlib>

#define CUT 3

using namespace std;

double channel_to_cm_x(int x);

double channel_to_cm_y(int y);

26



/* 00000000"Cf_num.dat"O00 NUMOODOOOOOODOO %/

int main(int argc,char *argv[]){

if (arge =! 2){
cout << "OOOOOODOOOOOOOON\n";

return 1;

int num;

num = atoi(argv[1]);

int 1i,j,k;
int 1 =0
int sum = 0;

int number = 0;

char fname[128];

string ofname = "Cf_sort.dat";
FILE *fp;

fp =fopen("Cf_sort.dat","w");

ifstream fin;

int x[800];
int y[800];
int clock[800];

double x_cm, y_cm;

int n,m;

int hit[800];

for(i=0;i<num;i++){
sprintf( fname, "Cf_%d.dat", i );
cout << "QPEN:" << fname << endl;

fin.open(fname) ;

/000000000000 0000 skkskkksskkkonk/
k = 799;
for(j=0;3j<800;j++){

fin >> x[j] >> y[j] >> clock[jl;

if (x[j1==0&&y [j1==0&&clock[j]==0){



k= j-1;

break;

}
cout << "OOODO:" << k+1 << endl;

/*******************************************/

/100000 hitO (OOO) OO O O skskskokskokskkokokkokkkk /
j =n=0;
for(j=0;j<k; ){
hit[n] = 1;
while(clock[jl==clock[j+hit[n]]){
hit[n]++;
}
//00000cuTOoOoOng
if (hit [n]>CUT-1){
number++;
fprintf (fp,"%2d %2d\n",hit[n],number);
for (m=0;m<hit [n] ;m++){

x_cm = channel_to_cm_x(x[j+m]);

y_cm = channel_to_cm_y(y[j+m]);
fprintf (fp,"%7.5e %7.5e %5d\n",x_cm,y_cm,clock[j+m]);
}

1++;

3

j =3 + hit[n];
n++;
}
/KK ok sk sk ok ok ok ok ok ok ok ok ok ok ok ok ok ok o o o K K K K K K K KK KoK oK oK oK ok oK oK oK ok ok ok ok ok /
sum += 1;
printf("C£_%d 0000000000 :% OO0 :%d\n",i,1,sum);
1=20;

fin.close();

return O;



double channel_to_cm_x(int x){

return (double) (x/2 * 0.04483 + 3.153);
}
double channel_to_cm_y(int y){

return (double) (y/2 * 0.04101 + 4.520);
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googo

#include <iostream>
#include <fstream>
#include <sstream>
#include <string>
#include <cstdlib>
#include <stdlib.h>
#define NUM_MAX 500

#define SIGMA_MAX 0.1 //FittingOOO0OOO0O

using namespace std;

void scat(const char *fname)<{
gRO0OT->SetStyle("Plain");
gStyle->SetOptStat(0);
gStyle->SetFrameFillColor(0) ;

int i;

// 000000od
double xO -5.0 ;
double yO 9.0 ;

TCanvas **c = new TCanvas*[4];
char c_name[16];
for (i=0;i<4;i++){

sprintf (c_name,"c%d",i);

c[i] = new TCanvas(c_name, c_name, 900, 900);
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TH1F *frame = gPad->DrawFrame(-1,-1,19,19);

TLegend *leg = new TLegend(0.85,0.1,0.95,0.9,"Cf");

/*COLOR TABLE [0 [0 skksksksksk sk sk ok ok ok ok ok sk sk sk 3 o ok ok ok ok ok ok ok ok sk ko ok ok ok ok ok ok /
int color[20] = {1,2,3,4,5,6,7,8,9,12,50,51,65,30,41,
91,98,28,38,20};

/****************************************************/

//--Read the data file.

ifstream fin(fname);

if (1fin){
cerr << "Cannot open file." << endl;

exit(1);

//0 0 0 0O O O O skeskokokokoskokokoskokkokokokokskokok sk kok ok sk okokok ok kok ok ok
double x_low, x_high, sigma;

double pol0O, poll;

double theta2; //FittingOOOOOO

double phi; //000
double cos_theta; //000
int k;

ofstream fout("Cf_scat.dat");
TF1 **xf = new TF1x[NUM_MAX];
char f_name[16];

//*******************************************

int clock;

double x[NUM_MAX] [20];

double y[NUM_MAX] [20];

int hit, gomi;

TGraph **gra = new TGraph* [NUM_MAX];

char name[5];

/¥ W PIC O OO skkkokokokokskkskkskkkkkkkkkkkkk/



double x_min = O ;

double x_max = 18 ;

double y_min = O ;

double y_max = 18 ;

b = new TBox(x_min, y_min, x_max, y_max);

b->SetFillColor(1);

b->SetFillStyle(3001);

for (i=0;i<4;i++){
cl[il->cd(0);
b->Draw("same") ;

}

/***********************************/

/¥ U PICOOOODO skskskokkokokokokskskskkkkkkkk/
x_min = 3.153;

x_max = 3.153 + 0.04483%255;

y_min = 4.520;

4.520 + 0.04101%255;

y_max
b2 = new TBox(x_min, y_min, x_max, y_max);
b2->SetFillColor(5);
b2->SetFillStyle(3001);
for(i=0;i<4;i++){

c[i]l->cd(0);

b2->Draw("same") ;

3

/Koo ok sk ok ok ok ok ok ok ok sk ok sk ok sk ko ok ok ok ok ok ko k ok ok ok ok /

int num = O;

int n = 0;

int j = 0;

while(fin >> hit >> gomi){
//if (gomi==16){break;}
for(i=0;i<hit;i++){

fin >> x[num] [i] >> y[num] [i] >> clock;

+
gra[num] = new TGraph(hit,x[num],y[num]);
gra[num]->SetLineColor(color[jl);
gra[num] ->SetMarkerColor (color[jl);
gra[num] ->SetLineWidth(3) ;
gra[num] ->SetFillColor(0);
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gra[num] ->SetMarkerStyle(8);

gra[num] ->SetMarkerSize(1.3);

c[0]->cd(0);

sprintf (f_name,"f%d",num) ;

f[num] = new TF1(f_name,"[0]+[1]*x",-5,30);
gra[num] ->Draw("PL same");

gra[num] ->Fit (f [num] ,"NO","",-1,26);

f [num] ->SetLineColor (color[jl);

f [num] ->SetLineWidth(2) ;

//f [num] ->Draw("same") ;

// SIGMA OO OO  sekkskskokokskokokokokokokokokokokokokokkokokok
poll = f[num]->GetParameter(1);
polO = f[num]->GetParameter(0);
for (k=0;k<i;k++){
sigma = ( y[num] [k] - polilx*x[num][k] - polO )x*(
y [num] [k] - polix*x[num] [k] - polO );
}
sigma = ( sqrt( sigma )/( 1 + poll*poll ) )/ ij;
[ [ H kKo Aok Kok Kok Kok ok ok ok ok ok ok ok Kok ok ok ok Kok ok ok Kok K
if ( sigma < SIGMA_MAX ){
c[1]1->cd(0);
gra[num] ->Draw("PL same");
c[2]->cd(0);
gra[num]->Draw("PL same");
f [num] ->Draw("same") ;
sprintf (name, "%2d" ,num+1) ;
// 000000000000 O skskokokakokokokokokokokskkokokok
theta2 = atan( poll );
phi = atan( ( poll*x_low+polO - yO )/( x_low - x0 ) );
cos_theta = cos( phi )*cos( theta2 ) +
sin( phi )*sin( theta2 );
fout << cos_theta <<" "<< sigma << endl;
[ [ F KA AR ok Kk ok ok ok Kok ok K ok Kok ok ok Kok Kok ok K ok Kok ok ok Kok ok o
n++;
leg->AddEntry (gra[num] ,name) ;
Yelseq
c[3]->cd(0);
gra[num] ->Draw("PL same");

¥
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num++;
jt+s

if (§==20){j=0;}

for(i=0;i<4;i++){
c[i]->cd(0);
leg->Draw("same") ;

}

cout << endl << n << endl;

fin.close();

fout.close();

4 ODOO0O0OoOOd

3.23000000000000000O00O0O0OO

/* 000 000-00 0000 O0DOooood
z0O0OOO ( r0_1=(0,0,1) )OOOODOO
(0,0,0) 00000000 OODODOOOOOOO
+ 00000 y=zO0OO (OODDOODO xyOO)OOOOOOOOOOO

O000d00oooooOoooOo0oUuooooooooogogs/
#include <iostream>
#include <math.h>
#include <stdlib.h>
#include <stdio.h>
#include "mt19937ar.c"

#include "vector_sim.cxx"

#define NUM 6135

using namespace std;

double get_En();
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int main(int argc,char *argv[]){

FILE *fp;
FILE *fp2;
fp2 = fopen("pro900.dat","w");
int randum = 100;
if (argec == 2){
randum = atoi(argv[1]);
Yelse if (argc > 2){
cout << "O O ERROR" << endl;
return 1;
}

init_genrand(randum) ;

vector rO, ri1, r2;

vector rO_1, r1_2;

double theta;//0000000O

double cos_theta;

double y,z;

double cos_THETA;//00000000O cos
double energy; //000000000O
double scat; //0000000000 cos
double phij; //000000000
double En_energy;//00000000000

int i = 0;

int j = 1;

while (i<NUM){
i++;

b

ril.inter( 0, 0, 0);

r1_2 = get_scat2( 0, O, &cos_THETA, &energy,

r2 =rl + ri1_2;

r2.get_y();

N
I

r2.get_z();

&scat, &phi);
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theta = atan( y / z );

cos_theta cos( theta );

En_energy = get_En();

energy = En_energy * energy;

fprintf (fp2,"%5d %12.11f %12.11f %12.11f %12.11f J12.11f
%12.11f %12.11f\n", i, theta, cos_theta, cos_THETA , energy, scat,
phi, En_energy);

if( (1/(3*100)) == 1){
printf ("%5d\n",1);

jtts

//100000
double get_En(){

double random = genrand_reall()*1.4954;//[ 0, 1.4954]
1.4954 00 10MeVO OO DO OODOO (AOMeVO OO DO OO)

double sum = O;

double delta = (double)10.0/NUM;

double energy = O;

int i;

for( i=0; i<100000; i++){
energy += delta;
sum += sqrt( energy )*exp( - energy / 1.42) xdelta;
if( sum > random ){

return energy;

}
printf("00 1111\n");
exit(1);

return energy;
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75 ODO0O000O0O0OO0O
go0oooobooooooouooooooood
/3000000000000000000O + 0000
0boobobobOo y=¢x 10000000000 */
#include <iostream>

#include <math.h>

#include <stdlib.h>

using namespace std;

// p PICODO g PIC

// -—= 9 ---- y_max

// (. |

// ---- -9 -—-- y_min

// 7 25 X_min x_max

double x_min = 7 + 3.153; // 10.153
double x_max = 7 + 3.153 + 0.04483%255; // 21.58465
double y_min = -9 + 4.520; // -4.48
double y_max = -9 + 4.520 + 0.04101%255; // 5.97755
double z_min = -5;

double z_max = 5;

class vector;

ostream &operator<<(ostream &ost, vector obj);

vector operator*(double sloop, vector ob);

vector unit(vector ob);

vector reach_x(vector origin, vector unit, double x);
vector reach_y(vector origin, vector unit, double y);
vector reach_z(vector origin, vector unit, double z);
int checkl(vector r0);

int check2(vector rl);

vector get_scat(double theta_A, double phi_A);

vector get_terminal(vector rl, vector ri_2);

int get_inter( vector &rl, vector ri_2 );

double get_length(vector rl, vector r2);

vector get_scat2(double theta_A, double phi_A,

double *cos_THETA, double *ene,
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double *scat, double *phi);

class vector {
double x, y, z;
double length;
public:
vector (double x0 = 0, double yO = 0, double z0 = 0);
void inter(double x0, double y0O, double z0);
double get_x(){return x;}
double get_y(){return y;}
double get_z(){return z;}
double get_length(){return length;}
vector operator-(vector ob);
vector operator+(vector ob);
void dispQ);
friend ostream &operator<<(ostream &ost, vector obj);
friend vector operator*(double sloop, vector ob);
friend vector unit(vector ob);
friend vector reach_x(vector origin, vector unit, double
friend vector reach_y(vector origin, vector unit, double
friend vector reach_z(vector origin, vector unit, double
friend int checkl(vector r0);
friend int check2(vector ri);
friend vector get_scat(double theta_A, double phi_A);
friend vector get_terminal(vector rl, vector rl_2);
friend int get_inter( vector &rl, vector r1_ 2 );
friend double get_length(vector rl, vector r2);
friend vector get_scat2(double theta_A, double phi_A,
double *cos_THETA, double
*ene, double *scat, double *phi);

};

vector: :vector(double x0, double y0, double z0){

x = x0;
y = y0;
z = z0;

length = sqrt( x*x + y*y + z*z );

void vector::inter(double x0, double yO, double z0){

x);

y);

z);
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x = x0;
y = y0;
z = z0;

length = sqrt( x*x + y*y + z*z );

vector vector::operator-(vector ob){

return vector( x - ob.x, y - ob.y, z - ob.z);

vector vector::operator+(vector ob){

return vector( x + ob.x, y + ob.y, z + ob.z2);

void vector::disp(O{
cout << (1] X:" << x << n y:ll << y << (1] Z:" <L z << endl;

cout << "LENGTH:" << length << endl;

ostream &operator<<(ostream &ost, vector ob){
ost <<"( "<<ob.x<<", "<<ob.y<<", "<<ob.z<<" ) : Length "<<ob.length;
return ost;
}
vector operator*(double sloop, vector ob){
return vector( sloop * ob.x, sloop * ob.y, sloop * ob.z);
}
vector unit(vector ob){
return vector(ob.x/ob.length, ob.y/ob.length, ob.z/ob.length);
}
// 0000 (origin) 00 wnit 00000000000 yzOOOODODOOOOOOO
vector reach_x(vector origin, vector unit, double x){

double sloop = ( x - origin.x ) / unit.x;

if (sloop<0){
return vector(10000,10000,10000);

return origin + sloop * unit;
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vector reach_y(vector origin, vector unit, double y){

double sloop = ( y - origin.y ) / unit.y;

if (sloop<0){

return vector(0,0,0);

return origin + sloop * unit;

vector reach_z(vector origin, vector unit, double z){

double sloop = ( z - origin.z ) / unit.z;

if (sloop<0){

return vector(0,0,0);

return origin + sloop * unit;

/* p PICOO0O0O0OOOOOOOO
0K O
NG 1 */
int checkl(vector r0){
if(r0.y>1 || r0.y<-1 || r0.z>z_max || r0.z<z_min){
return 1;
}

return O;

/* 00000000000000O000

gooog o
gooog 1
gooog 2 */

int check2(vector ri1){
// u PICOO

pu PIC

39
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// -—= 9 ---- y_max
if(rl.y > 9){return 2;} // [ (.
if(r1.y < -9){return 2;%} // --—- -9 ---- y_min
if(r1.x > 22){return 2;} // 4 22 x_min x_max

if(rl.z > z_max){return 2;}

if(rl.z < z_min){return 2;}

if(rl.y > y_max){return 1;}
if(rl.y < y_min){return 1;}
if(rl1.x > x_max){return 1;}

if(rl.x < x_min){return 1;}

return O;

/* 000000000000000
0000 ,00000000000000000000D0000 %/
vector get_scat(double theta_A, double phi_A){

//0000 (r,06 ,®)0 r0OO0O0 zOOBOOO x0OO0-9000 yOO
gooooobod

//0000000000(@OoOoOoooo) [o,1]
double energy = genrand_reall();

//phi(000) 000 OOOoOoooo [o, /2]
double phi = acos( sqrt(energy) );// [0, m /2]

//theta00000 [0,27]
double theta = genrand_reall()*2*M_PI;

double x, y, z;

x = -cos(theta)*sin(phi)*sin(theta_A) - sin(theta)*sin(phi)
xcos (theta_A)*cos(phi_A) + cos(phi)*cos(theta_A)*sin(phi_A);
y = cos(theta)*sin(phi)*cos(theta_A) - sin(theta)*sin(phi)
*sin(theta_A)*cos(phi_A) + cos(phi)*sin(theta_A)*sin(phi_A);
z = sin(theta)*sin(phi)*sin(phi_A) + cos(phi)*cos(phi_A);

return vector( x, y , z );



/* OO0 or000 r1 00O r1_ 2 000000000000 r2 0000 =/
vector get_terminal(vector rl, vector ri1_2){
vector r2;

double sloop;

//00000 xO000000 sloopdO0O0O
if( r1_2.x > 0 ){

sloop = ( x_max - r1.x ) / r1_2.x;

Yelse{

sloop = ( x_min - rl.x ) / r1_2.x;
}
if ( sloop < 0 )A{

cout << "SLOOP:ERROR \n";

exit(1);
}

r2 = rl + sloop*rl_2;

//0000 yOOOOODOOOOOOOO OoOoooooooo

sloop O OOMO

if( r2.y > y_max ){
sloop = ( y_max - rl.y ) / ri_2.y;

Yelse if( r2.y < y_min ){
sloop = ( y_min - rl.y ) / r1_2.y;

}

if( sloop < 0 ){
cout << "SLOOP:ERROR \n";
exit(1);

}

r2 = rl + sloop*rl_2;

//000 zO0OOO

if( r2.z > z_max ){
sloop = ( z_max - rl.z ) / r1_2.z;
Yelse if( r2.z < z_min ){

sloop = ( z_min - rl.z ) / r1_2.z;



if ( sloop < 0 ){
cout << "SLOOP:ERROR \n";
exit(1);

}

r2 = rl + sloop*rl_2;

return r2;

/* 0000000000000000000000
int get_inter( vector &rl, vector ri_2 ){
vector ri12;
double sloop;
if( r1.x < x_min ){
//000 (1) (4)(7)
//000000000000 NG
if( r1_2.x < 0 ){ return 0; }
r12 = reach_x(rl, ri_2, x_min);
/00000000000
if( r1_2.y > 0 ){
//00000
if( r12.y > y_max ){ return 0;}
else if( r12.y > y_min ){
//000000 zO0O0OOO
if( z_min < r12.z && r12.z < z_max ){
//000
rl = ri12;
return 1;
}

return O;

Yelseq{

//0000000000
r12 = reach_y( r1, r1_2, y_min );
if(r12.x > x_max){ return 0;}
//000000 zO0OOOO
if( z_min < r12.z && r12.z < z_max ){

//000

rl = ri12;

ooooooooooo =/
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return 1;

}
return O;

}

Yelse{
//00000
if( r12.y < y_min ){ return 0;}
else if( r12.y < y_max ){
//000000 zO0OOOO
if( z_min < r12.z && r12.z < z_max ){
//000
rl = ri12;
return 1;
}

return O;

Yelseq{
//0000000000
r12 = reach_y( r1, r1_2, y_max );
if(r12.x > x_max){ return 0;}
//000000 zO0O0OOO
if( z_min < r12.z && r12.z < z_max ){
//000
rl = ri12;
return 1;
}
return O;
}
}
Yelse if( r1.x < x_max ){
//000 (2)(8)
if( rl.y > y_max ){
//000 (2)
//000000000 ODO0OO0OO0 NG
if( r1_2.y > 0){ return 0; }
//0000000000
r12 = reach_y( r1, r1_2, y_max );
if( x_min > r12.x || r12.x > x_max ){ return 0; }

//000000 z0O0OOO

43



if( z_min < r12.z && r12.z < z_max ){
//000
rl = ri12;
return 1;

}

return O;

Yelse{

//000 (8)

//000000000 00000 NG
if( r1_2.y < 0){ return 0; }
//0000000000
r12 = reach_y( r1, r1_2, y_min );
if( x_min > r12.x || r12.x > x_max ){ return O; }
//000000 zO0O0OOO
if( z_min < r12.z && r12.z < z_max ){

//000
rl = ri12;
return 1;
}
return O;
}
Yelseq
//000 (3)(6)(9)
/000000000000 NG
if( r1.2.x > 0 ){ return 0; }
r12 = reach_x(rl, ri_2, x_max);
/00000000000
if( r1_2.y > 0 ){
//00000
if( r12.y > y_max ){ return 0;}
else if( r12.y > y_min ){
//000000 zO0OOOO
if( z_min < r12.z && r12.z < z_max ){
//000
rl = ri12;
return 1;
}
return O;
Yelseq{
//0000000000
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r12 = reach_y( r1, r1_2, y_min );
if(r12.x < x_min){ return 0;}
//000000 zO0O0OOO
if( z_min < r12.z && r12.z < z_max ){
//000
rl = ri12;
return 1;
}
return O;
}
Yelse{
//00000
if( r12.y < y_min ){ return 0;}
else if( ri12.y < y_max ){
//000000 zO0O00O0OO
if( z_min < r12.z && r12.z < z_max ){
//000
rl = ri12;
return 1;
}
return O;
}elseq{
//0000000000
r12 = reach_y( r1, r1_2, y_max );
if(r12.x < x_min){ return 0;}
//000000 zO0OOOO
if( z_min < r12.z && r12.z < z_max ){
//000
rl = ri12;
return 1;
}

return O;

¥

double get_length(vector rl, vector r2){

return sqrt( (ri1.x-r2.x)*(rl.x-r2.x) + (rl.y-r2.y)*(rl.y-r2.y)
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}

+ (r1.z-r2.2)*(r1.z-r2.z) );

/* 000000000000 000

vector get_scat2(double theta_A, double phi_A, double *cos_THETA,
double *ene, double *scat, double *PHI){

//0000 (r,6 ,9)0

00000000000 00000oOooooooooooogno =/

//0000000000 (ooooooo) [o,1]

double energy = genrand_reall();

//phi(000) 000 OoOoOoOoOoOg fo, m/2]
double phi

acos( sqrt(energy) );// [0, m /2]

*cos_THETA = 1 - 2 * energy;
*ene = energy;

*scat = cos( phi );

//theta00000 [0,21]

double theta = genrand_reall()*2*M_PI;
*PHI = theta;

double x, y, z;

x = -cos(theta)*sin(phi)*sin(theta_A) - sin(theta)*sin(phi)

*cos (theta_A)*cos(phi_A) + cos(phi)*cos(theta_A)*sin(phi_A);

y = cos(theta)*sin(phi)*cos(theta_A) - sin(theta)*sin(phi)

xsin(theta_A)*cos(phi_A) + cos(phi)*sin(theta_A)*sin(phi_A);

z = sin(theta)*sin(phi)*sin(phi_A) + cos(phi)*cos(phi_A);

return vector( x, y , z );
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8 OO

gobooboooobooboboobboobooobuoooboobboobboooboon
gbooboobogoboobboobobooboooobuoobbooboooboooboobo
0000000000000 TAOODODOOOUOOODODOOOO0DO0DO0ODOO0OOOoooOoOoOOgo
gooooboooboobboobboobooobooboboobbooboooboobo
gooboobogoboobboobbooboooobuoobboobboooboooboooo
goooooobobooooooobbo0o 10000 bo0oOo0oUboboOoooooboboOooooo
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